2x( )= 4
5x( )=10
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6x( )= 42
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Tx( )= 14
( )x1= 2
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Tx( )= 42
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Tx( )= 42
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( )x6=18
( )x7=42
( )x7=35
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3x( )= 3
6x( )= 30
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( )x7=14
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6x( )= 30
( )x7=28
( )x2=38
( )x3=18
( )x4=24
( )x4= 38
4x( )=16
( )x2=4
6x( )= 24
( )x1=5
( )x2=14
( )x4=16
5x( )= 5
5%( )= 20
( )x1=7
3x( )=21
( )x1=4
™>( )= 7
( )xb=25
( )x6=36
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2x( )=10
( )x4=12
( )xbH=25
( )x1=4
Tx( )= 7
( )x6=24
TxX( )= 7
2x( )= 4
Tx( )= 14
2x( )= 2
7x( )=49
2x( )= 12
( )x2=14

4x( )= 12
3x( )=15
( )x1=3
2x( )=10
( )xb=25
( )x4=24
Tx( )= 14
Tx( )=149
( )xbh=25
( )x5=10
( )x6=42
2x( )= 6
4%x( )= 4
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2X( )= 14
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4x( )= 28
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( )x3=15
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()x7=35
( )x4=24
6x( )= 42
5x( )=5h
4x( )= 28
6x( )= 30
7x( )=49
( )x3=21
( )x7=14
4x( )= 20
4x( )= 16
5%x( )= 15
Tx( )=21
( )x1=5
( )x2=12
( )x3=9
Tx( )=49
( )x7=28
( )x7=21
6x( )= 6
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7x( )= 49
5x( )= 5
4x( )=24
( )x3=12
5x( )= 5
6x( )= 36
( )x4=24
( )x1=3
( )x1= 4
( )x4=12
( )x4=20
()x6=130
2x( )= 14
4x( )=20
( )x1=7
5x( )= 30
( )x5=10
Tx( )=42
( )x5=10
( )x3=21




bx( )= 5
( )x3=18
6x( )= 30
5x( )= 30
6x( )= 24
()= 7
TX( )= 42
( )x1=4
5%( )=10
6x( )= 42

6x( )= 42
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( )x3=9
Tx( )= 14
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7x( )= 35
2% ()= 12
2x( )= 6
5x( )= 35
( )x7=21
2x( )= 6
3x( )=21
6X( )= 6
5x( )= 30
3x( )=15
( )x3=9
( )x6=18
2x( )= 6
4x( )= 4
( )xb=25
( )x4=12
( )x2=14
( )x7=42
6x( )= 24
( )x4=20




6x( )= 30
( )x7=49
2x( )= 14
2x( )= 4
( )x2=14
3x( )= 9
5x( )=10
3( )= 9
( )x4=16
3x( )=12
6x( )= 18
2x( )= 14
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5%( )= 25
3x( )=21
2x( )= 8
( )x7=42
( )x7=28
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6x( )= 36
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4x( )= 12
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3x( )=15
( )x4=20
5%x( )= 10
7x( )=49
5x( )= 30
( )x6=18
( )x6=30
( )x1=4
( )x5=20
( )x7=21
5%x( )= 25
™x( )= 14
6x( )= 42
( )x2=10
( )x4=16
3x( )=12
( )x3=21
( )x2=10
2x( )= 8

6x( )=12




( )x4=20
( )x1=3
( )x7=14
4x( )= 24
3x( )= 6
3x( )=18
2x( )=10
3X( )= 6
( )x6=18
( )x7=35
()x2=38
3x( )= 6
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( )x4=24
6x( )= 30
( )x6=12
6x( )= 18
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3x( )= 6
4x( )= 12
4x( )= 20
3x( )=21
( )x7=35
4% ()= 12
6X( )= 6
( )x5=10
™x( )= 14
5x( )= 20
3x( )=15
6x( )= 24
5x( )= 35
( )x2=4
( )x6=30
4x( )= 4
Tx( )= 42
( )x2=10
( )x3=6
( )x6=42




3x( )= 6
2x( )= 12
4x( )= 16
( )x3=9
2x( )= 6
( )x1=3
( )x1=4
TX( )= 42
Hx( )= 25
6x( )= 18
( )x6=12
( )x7=28
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Tx( )= 14
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( )x6=42
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( )x6=236
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Hx( )= 30
( )x6=12
6x( )= 18
3x( )=15
Tx( )=21
5%x( )= 15
( )x7=21
6X( )= 6
4x( )= 4
( )xb=15
Tx( )= 49
bx( )=5h
Tx( )= 7
5%x( )= 10
2x( )= 4
( )x7=28
( )x3=15
2x( )= 2
5% ()= 20
( )x3=18

3x(




2x( )= 6
( )x7=28
( )x2=6
6x( )= 6
6x( )= 30

( )x4=28
( )x7=42
6x( )= 18
4x( )= 20
()x4= 8
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Tx( )= 49
4x( )= 16
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3x( )=15
6x( )= 6
( )x4=20
( )x6=12
( )x4=24
( )x3=18
2x( )= 2
( )x2=4
Tx( )= 28
( )x6=30
( )x1=5
()x2= 8
3x( )=15
( )x6=30
( )x2=10
( )x2=12
( )x4=16
7x( )=35
( )x2=4
( )x6=42

( )x6=12

2x( )= 14
Tx( )= 42
( )x4=24



( )x6=12
( )x7=235
( )x7=28
( )x2=14
( )x4=28
3x( )=18
()x2=38
2x( )=14
( )x5=20
( )x3=15
( )x6=42
( )x5=230
( )x3=21
( )xbH=235
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( )x1=4
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( )x3=6
( )x1=6
7x( )=35
( )x4=16

( )x4= 38
( )x3=12
( )x5=20
™<( )= 7
™>( )= 7T
( )x5=20
( )x1=7
2x( )= 4
5%x( )= 35
()x4= 8
5x( )= 5
5%x( )= 15
( )x5=35
( )x2=10
()x4= 8

( )xb5=35

( )x6=18
( )x7=42
( )x5=35
7x( )= 35
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( )x5=230
( )x2=38
( )x1=6
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( )x1=7
4x( )=16
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3x( )=21
( )x3=9
3x( )=18
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5%( )= 35
4x( )= 8
( )x7=235
2x( )= 2
( )x4=28
( )x1=3
( )x5=25
( )xbh=25
2x( )= 2
( )x7=21
6x( )= 42
( )x1=6
7x( )=35
( )x4=24
( )x7=149
6x( )= 42
( )x4=12
( )x3=9
5%x( )= 10
()x2= 8
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